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Aufgabe 11.2

a=0
b=4
n=6

f(x)=exp(0.5*x)*sin(pi*x)

pts=[ (a+(b-a)*i/(n-1),N(f(a+(b-a)*i/(n-1)))) for i in [0..n-1]]
html.table(pts)

0 0.000000000000000

$ 0.876872556279217

8 —2.11661520232433

2 3.15761883423041

& —291131941318588

4 0.000000000000000
polyf(x) = maxima.lagrange(pts).sage()
view(polyf)
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grl=plot(f(x),(x,0,4),plot points=100,thickness=2,color="'blue')
gr2=plot(polyf(x),(x,0,4),plot points=100,thickness=2,color="'red
)

P=show(grl+gr2)
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Aufgabe 11.3 a)

g(x)=1/(1+x"2)

n=12

pts=[(-5+10%i/n,N(g(-5+10*i/n))) for i in [0..n]]
html.table(pts)
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polyg(x) = maxima.lagrange(pts).sage()

view(polyg) p,
X ngm ((7.1592023976 x 10719) x — 3.5796011988 x 1079 2x — 5)2x+ 5)Bx -

(,—, 4 >

grl=plot(g(x),(x,-5,5),plot_points=100,thickness=2,color="'blue')
gr2=plot(polyg(x), (x,-
5,5),plot_points=100,thickness=2,color="'red')

QO=show(grl+gr2)
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Aufgabe 11.3 b)

g(x)=1/(1+x"2)
n=12

ptscheb=[ (5*%cos((2*i+1)*pi/(2*(n+1l))),N(g(5*cos((2*i+1l)*pi/(2*(n

+1)))))) for i in [0..n]]
html.table(ptscheb)

5 cos (% )
5 cos (2% )
5 cos (216 )
5 cos (% )
5 cos (% 9]
5 cos (12—‘6 )
0

5 cos (12—56 )
5 cos (12—2 )
5 cos (12—% )
5 cos (%—16 )
5 cos (% )

5 cos (%—56 m)

polygcheb(x) =
view(polygcheb)
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grl=plot(g(x),(x,-5,5),plot points=100,thickness=2,color="'blue')

0.0390064697692890
0.0437514518741643
0.0557644831148746
0.0833799462196104
0.156269761633290
0.411218082022904
1.00000000000000
0.411218082022904
0.156269761633290
0.0833799462196104
0.0557644831148746
0.0437514518741643
0.0390064697692890

maxima.lagrange(ptscheb).sage()

(—1.59770500175x10719) (x=5 cos(Z m))(x=5 cos(Z: 1)(x—5 cos(L2 @) (x—5 cos(L m)

(005(2736 7T)—COos 2756 7))(cos 27]6 n)—cos(% 7)) (cos(

gr2=plot(polygcheb(x), (x,-

5,5),plot_points=100,thickness=2,color="red")

Q=show(grl+gr2)
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